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{1) Going-concern assumption; (2) accrual basis of accounting; (3) line of credit;
(4) contihgent liability; {5) board.of director. |

s it possible for a company to be profitable but not liquid? Please explain why?
(15%) | |

If a capital expenditure is mistakenly treated as a revenue expenditure, will the

asset of the current year be overstated or understated? Will this error have any
effect on the profit reported in the future years? Please explain, (15%) |

What is the definition of free cash flow? Please describe the importance of free

cash flow to managers, stockholders, short-term creditors and Ion'g-term ,
creditors, respectively, (15%)
Central Company uses retail method to value its inventories. Recent financial

statements were used to compile the following information (pound figures are in

millions):
Average inventory (throughout the year) $1,449.2
Current assets (at year-end} 2,535.8
Current liabilities (at year-end) 4,476.6
Net sales 20,053.6
Cost of good; sold 12,460.6
Gross profit ' 7,593.0
Average time required to collect outstanding receivables 5.2days
Required:

(1) Using the information provided above, please compute the following measures:

(9%)
a. Inventory turnover; b. Current ratio; ¢. Ratio of gross profit.

(2} Assuming the ratio of cost to retail price is 58 percent, estimate the ending
inventory at rail price. (8%)

(3) Explain why the average number of days required by Central Company to
collect its accounts receivable is so low. (8%)




